Sacred Heart CMI Public School, Thevara
Class 111 — Mathematics
REVISIION WORKSHEET
PLACE VALUE

1) Write the number name.

9704

2) Write the numeral form.

Four thousand three hundred twenty:

3) Write the place value and face of the each digit.
7568




4) Write the predecessor and successor of the following numbers

7000

5) What comes in between

7888 7890

6) Arrange the numbers in ascending order.

1254, 3587,4567, 9857
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7) Arrange the numbers in descending order.

5687, 1009, 9999, 5634

8) Fill in the correct sign .

2071 8316

9) Use the digit to make the greatest and smallest number.

0,5,4,9

Greatest number :

Smallest number :




ADDITION
10) Fill in the blanks
The answer in addition is called
83+1=
690+0=
45+19=  +45

o0 o

11) Addition of number without carry over

264 752
+ 534 + 147

12) Addition of number with carryover

789567
431234

+ 561 + 168

13) Addition of 4 digit number without carryover

1882
+ 7017

14) Addition of 4 digit number with carryover

5379
+ 7423

15) 560 422
+ 9 120
+ 92



16) Word problem

In an examination, 7236 students passed and 1092 students failed. Find how many
students appeared for the examination.

17) Lalita collected Rs.142 for the flood relief fund and Mehak collected
Rs.225 for the same fund . How much money did both of them collect?

18) Sahil bought a box containing 425 chocolates and another tin
containing 360 chocolates. How many chocolates are there in all?




19) In a train there are 326 men, 453 women and 210 children. How
many people are there in the train?

20) Alisha’s mother travelled 258 km by car and 475 km by bus. How
much distance did she travel altogether?

21) There are 235 books on the first rack, 125 on the second rack and
177 on the third rack. How many books are the on the three racks?




22) Three parking lots in a shopping mall has maximum parking space

0f256, 275 and 180 cars. What is the maximum number of cars that can be
parked in all parking lot?

SUBTRACTION
l. Fill in the blanks

a) 24-24 =

by 72- =0

c) 93-1 =

d) 43- =43
Subtraction of number without borrowing
79 57

- 43

- 23

I1l.  Subtraction with borrowing

436
- 49

7911
- 2356




IV. Find the difference between 2536 and 1652, check your answer.

V.  Word problem

1. The total cost of mobile phone and bag is 7432. If the cost of mobile phone is
Rs. 4599 find the cost of the bag?

2. Radhika spent Rs. 714 on food and Rs. 886 on clothes. How more did she spend
on clothes?

3. Having Rs.999 for his budget, he went to a sports store and bought his brother a
new pair of shoes for Rs.165. How much money does he have left?




Fill in the blanks
a) 60 seconds = minutes
b) A quarter of an hour = minutes

Fill in the blanks using A.M and P.M
a) Arya’s school gets over at 3.30
b) Surya eats breakfast at 7.30

a) The first month of the year is
b) The 6" month of the year is

c) The 9" month of the year is
d) The last month of the year is

Write the names of the months which have 30 days

Draw the hands on the clock to show the time written below

4:10

VI.

Write the time in two ways



SHAPES AND PATTERNS

1. What shape are the faces of a cube?

2. How many triangles can be seen in this figure?

pd

3. Rakesh has 10 one rupee coins of similar kind. He puts them exactly one on
top of the other. What shape will he get finally?

4. Which complete shape can you see in this picture?



N

5. An example of a sphere would be a

(dice, cup. Soccer ball)

6. Write true or false
A cone is a 2- dimensional shape.

7. A circle has sides.

8. A solid which has rectangular faces is called a

- @A @

10. A dice is an example of which solid?

MULTIPLICATION
Fill in the blanks
1. 6x2= X6

2. 5x100 =



. 6x200=

. 9x100 =

. Solve 23 x3

. Solve 46 x 4

. Solve 232 x 3

. Solve 336 x 6

Solve 34 x 17




9. An egg tray has 25 eggs in it. How many eggs are there in 6 trays?

10.Four children are playing tennis together. They all brought six balls. How
many balls do they have total?

11.The Smith family has five members. Each member has a bath towel and a
small towel. How many towels hang in the bathroom?

12. A packet of biscuits cost Rs. 15. What is cost of 6 packets?

13.A town has three post offices, In each post office there are five workers.
How many workers do the post office?




MEASUREMENT
Write the units

1. The standard unit of length is .........cccevviiniiiinnnenn.

2. The smaller unit of lengthis ..............................

X and ............ is used to measure the mass of objects.

4. The distance between two cities iIsmeasured in ..........oevvunenn...

5. The length of the playground, school is measured in ...................

6. oo 1s used to measure heavier objects.

(o i, is used to measure lighter objects.

8. The standard unit of capacity iS ...............ccouvenne.n

9. The smaller unit of capacity is ...............

10. The weight of rice is measured in ......................

Convert the following:

1. 700cm=................. m

2. AKg= g
3.9m=........ cm

4, 3550 g=............ kg .oooiiiii g

5 31/4 11 e



Draw the line segment for the following length

a) 8.5cm

b) 12cm

DIVISION

Fill in the blanks

1. When a number is divided by itself the answer is

2. The answer in division is called

3. O divided by any number is

4. When a number is divided by , the answer is the same number itself.

5. Is repeated subtraction.




6. The number to be divided is called

7. The number by which we divide is called

8. Divide 469 + 6

Dividend =

Divisor

Quotient =

Remainder =

9. Divide 176 chocolates among 8 children. How many chocolates will each
child get?

10.Divide and check the answer
742 + 8

11.Write two division facts for
(@ 4x8=32 (b) 7x8=56



12.Nancy needs 5 orange to make a glass of orange juice. If Nancy has 250
oranges, how many glasses of orange juice can she make?

13.1n your class you counted 120 hands. How many students are there in the
class?

FRACTIONS
Fill in the blanks

1. In % the numerator is and the denominator is

2. The fractions with numerator 3 and denominator 8 is

Find
3. One-third of 15

4. Half of 50

5. Quarter of 32

6. One —fifth of 75




7. 42 students went for a picnic. Half of the students were boys. How many
were girls?

DATA HANDLING

Answer the questions
l.

Class Number of Students present | Students absent
students

Class | 23 22 1

Class Il 24 21 3

Class IlI 22 18 4

Class IV 25 23 2

Class V 27 25 3

Total

1. How many children in all are there in the school?

2. How many children in all are absent on that day?




3. Which class has the highest number of absent students?

4. Which class has the least number of absent students?

5. How many students are present in the school?
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1. Which month had the most rainy days?

2. Which month had the least number of rainy days?

Il.  The picture graph below shows the girls ordered number of Barbie doll?

Number of Barbie doll ordered

Name Number Ordered
Nisha 3

P
Namita ﬁ 5; 3 5?
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1. How many less Barbie doll Divya ordered than Namita?

2. How many Barbie doll Alya ordered?

3. What is the total number of Barbie doll all girls ordered?

MONEY

. The symbol of rupees is

. 100 paisa make rupee.

Write the amount in figures.
20 rupees :

. 35 rupees 25 paise :

Write the amount in words.

. Rs.105.75:

. Rs.10.25 :

Change to paise
. Rs. 7: paise

. Rs.55.75: paise




Change to rupees

9. 4565 p : Rs.

10.87535p : Rs

Addition and subtraction of money
11.Find Rs. 156.75 + Rs. 23.50

Find Rs. 8.50 — Rs. 7.50

12.Make a bill : Sugar Rs. 45, Rice : Rs. 55.75, Tea powder : Rs. 40. 50




